CTeneHHas,
nokasaTtenbHaa n
norapungpmmyeckas yHKLUN

[loBTOpEHME MaTepuana




OnpepennTte Kakme 13 npmBeaeHHbIX
HUXe PYHKLUNN ABNAIOTCA
nokKasateslibHbIMU?

a=1

\\
\/ E




OnpepennTte Kakme 13 npmBeaeHHbIX
HUXe PYHKLUNN ABNAIOTCA
norapucpmumyecKkumMmmn?

P=x

a=1

\\
\/ E




[Toka3aTenbHas beHKLI,I/I!

y=a"

a<1 a>1




INNorapmnmumnyeckasa yHK
y=log x

a>1l1

a>1

O<a<l

a<l




CBouncTtBa PYHKLNN:

D(y) = (- = ; + ) D(y) =(0; + =)
E(y)=(0;+) E(y)=(-;+)
Ecnna>1 pyHkuna  Ecnu a> 1 yHKUKS
BO3pAaCTaeT; BO3pAaCTaeT;

Ecnna<1qyHkuna Ecnua< 1 yHKUnS
yOblBaeT yOblBaeT



Hangn owmnoky:
( cBOMCTBA KOPHEN N-OMN CTEMNEHU

Va+ Vb = Vab e B = ab
B . & _ng n n n|d
\/E-\/B— h a \/B: E
(Va)" =va (Vo)™ = Vam
O G O

T



BcnomMmHM cBOMCTBA CTeneHeN

i’ =12 nfam =7

(db)"* =72

(a)™ =72 . e
= - m -

-

va =?

T —_



POBEPbL CBOU
norapngpmoB?

log,1=a
. log, 0 =1
. log, xy = log, x— log,y

. log, i =log, x +log, vy

- JOg - XE =% log, x

. log.rx=plog, x
alogx a—x



PeLwiun: ‘

J4-36=7
=128

gx+1_gx—1 —ng

log, (5 —2x) =1




PeLwiun: ‘

22X—9< |
0,23X—4 > 1
log,(x-1)> 3




PeLwiun: ‘

4% _14-2%-32=
\/ZO—x2 =2X
J2x+3 =12 —x




BblYUCINUTL: ‘

log 250 —log. 2
log, log, 81
log, log, 8 —8%°

—log, log, 27 — 489>




Onpepenute X, ecnu ‘

log (5x—1)=2.

log, (x-1)=2

log, (x+4)=1log, (2x—1)




